1. FHES

(BEDI|I2 : 1d, &9 @ =)
B&Je 2 1 ol =4
NETRFEIE AFSE 3FOER [ AFY pROER ALY 28t
S AL pBHOFR S2A {REUHOIR | A {REUHOIR Sa 25
el ol 1% 0H A5 3O | A 6O A5l 2t
P2 8,300 12,500 15,300 30,100
=EEaH 9,200 14,000 17,200 33,600
2 Htol 1,400 2,200 2,700 5,400
2) HEHH&H(XHE)
(28012t : 1', &9 @ <)
EEPIIE] 1 At In} =
= DBH O} 5840k 2O 5& 02
=P 15,600 17,700 18,300 20,700
=gEEaH 18,000 20,500 21,300 23,900
ZHtol 1,700 1,900 2,000 2,200
3) XDIAMAD(RIIE)
(&2 1d, &9 @ =)
SEINYSIADY 1A AR5 | {AIDE 3@ | TAADY 520 | {AIDE 10
AP 1ECHR AR (EIBEHORR | AMZE  3HOIR | AFY 5FOER | ANY 1018
SA QUHOIR |24 {HHUHOMR | AN {&BSUHOR | AN {FBEHOLR | 2AF {F5UHOHR
= ol 1HOHA |Fal  1HSMOER | o 3T | H 5MrR | Fol 1212
A2 12,000 15,600 22,600 30,800 57,300
=g EH 9,800 12,600 18,500 25,100 46,600
= Htol 4,200 5,500 8,000 10,900 20,400




4) sSIIHZEN (XIHE)

o) MsJIHAeeE

Zue 28

tRO| 60% Ol&fS =2 GHOHOF BHCH.

(2802 14)
SIEEE
. 20+ 50+ 100+ 200+ 300+ 500+ 2
= EEBY EEPY EEPY
2R =Yl =Rl =Relke] - - -
0.39% 0.38% 0.37%
SREHF 0.3% 0.35% 0.34% 0.31% 0.29% 0.25%
ZHtol 0.04% 0.04% 0.04% 0.03% 0.03% 0.03%
B D MSIIHE 82 =) SDECIF B AIRECQ 22U = 1 MES
ol SI|HZE LB},
@ SEIIAIHS MSIIHIIAN SIIHS EZLIAAXNEES 2 o2 o
Ct.
L) =0s01Hes
o o oS s8 | s8R
2 4 MZIRE2 120%
3 @ A MZIQE2 150%
4 4o = MIIRE2 170%
5 & A MXF2E2 200%
6 o « MZIQE2 200%
7EA 04 MXIRE2 250%
0 a28s8es
- = @7 ol
ME71ALE B Z057]A88 x (1+£T(£’§LQH)X%




60

uir

%0
o)
1o
RO
ok
oF
ik

-

1) CHQIBHA Al

100

o)

15,800
17,600
2,200

6,700
7,600
900

3,700
4,200

1,300
1,600

ol

60
Iy

=
(o]

o

Uk
K0

7
0K
R0
Bl
1o

Fill
W
o
o

ur

o]

100

[gd]

R0 o
002o Of

TAF

44,500
36,200
15,300

o 2

0 1 g1

UEY

18,200
14,900
6,300

10,000
8,100

3,400

3,000
2,400

2,000

1,600

0t
R0
Al
Ho

il
w
00
Ho

100

0

s
—

feHol 5%

1,600
1,600

=

o

ol

0
H

Uk
ko

0B

Al
Ho

_

w)
il
W
oo
Ho

ioJ
o0

| 60%E =

ol
n
50
T
H

B

ko
H

-

lt]



O

il
ur

ct.

:_oﬁII__ o Uln ok = s
0_iloc Soml_- o) (0:l73)
-0l _FY| = R0 =
__2‘_ eﬂ.x_._. s i0J s
o’ Kio 0 ujo JH ofo = =
| -zt O WHgr = H =
DAy@E IR, A | ol
%ﬂ@@ .&V%o_m o Lo 40
mry%%u.uml AG) ) B0 o)
o pms*aE) o 50 00
m _I.I| - |_|_ = O_.A
WnpoTm, myS| o el
(GENSH  BwE G _
RIS RS 0 D gy ol 2
A Rl i w
. 5olR0 uir
fwop gutsl = | 5.
oS SWNEKE 0D | 5005
I . - =n =n 7 IO
s s~ uor® Ko | 2 o
BoFoTa M = R R
; OF o1 w0 H0 ] = Hio o IR ur o &r
JEszEl | B | BB
82 0 ~ 8
w =80x = 01 O3 S
_ DUy | mBo M
of ®_ .03 = = 00 o)
NOTOWE S Ho Rl U ol O
oo ) <F 50 S w | 000i®
50 O 00 < 30 e 350 70 00
S 0 &M 30 JIJ o B3 R
o R R R
T Te) an oy o O | A p - O
N E==4 |SExysszs
oo m:_z__w_m M| ama ™
00 558 mmma wmma
&M = = =
- = Ol
I = 0 = o
- zr o ~ ujo &4
_ Ho ot =
T 0 = 00 O 20
100 ~ = A_vg._o
F M =
ok Kl Uir 75

o\

w

(0]

Ol
Il
ol
)l
on | ™
Jif3]

w S
mE © <
Gl
ol
D

<

(ep]

(a\]

m S
— (<o)
a1
W
wo|w S
H |[H o
) O =
W=
ol
|
) _
al 10}
) N

ot

EOIH 20l CH

C
()

Z otH, 2&J12t01 1&0|etel

=)

KK

i
N
0

Rr



